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QUESTION 1

Which two statements are true about voiding a receipt record in IBM Maximo Asset Management V7.5? 

A. Balances and inventory costs are adjusted. 

B. Voided receipts can be referenced on credit invoices. 

C. Related General Ledger account transactions are reversed. 

D. A new transaction of type RECEIPT is created with negative quantity. 

E. A receipt can be voided after the corresponding line item has been invoiced. 

Correct Answer: BE 

 

QUESTION 2

Which statement is true regarding classification attributes? 

A. Parent and child classifications must have the same attributes. 

B. The sequence of attributes can be different for each Use With object. 

C. Attributes identified as mandatory are mandatory for each Use With object 

D. If an attribute is identified as mandatory it cannot be deleted from a service request. 

Correct Answer: D 

 

QUESTION 3

When would a classification be copied in to a follow-up work order from a Service Request (SR)? 

A. when the classification has children 

B. when the classification has attributes 

C. when the inherit hierarchy flag is selected 

D. when the classification includes both the work order and SR Use With objects 

Correct Answer: D 

 

QUESTION 4

A company has five sites within one organization in their system. They want to activate automatic generation of work
orders for three of their sites. Which option can help to achieve this? 
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A. Work Orders are automatically generated for each active site. 

B. From the Preventive Maintenance application select Generate Work Orders for all Sites. 

C. Preventive maintenance options must be set up to auto-generate work orders at the site level. 

D. Preventive maintenance options must be set up to auto-generate work orders at the organization level. 

Correct Answer: D 

 

QUESTION 5

Which statement is true about rotating items? 

A. Rotating items are consumable parts. 

B. Rotating items cannot be returned for repair. 

C. Rotating items can only be installed at a location. 

D. Rotating items can have an inventory value and balance. 

Correct Answer: D 
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